Village of Libertyville

Nicholas Dowden Park Flood Control Project – Phase 1

(CBBEL Project No. 20-0140)

Bid Opening: June 17, 2022 @ 10:00 AM

<u>Company</u>	Base Bid	Bid Bond	Addendum <u>#1</u>	Addendum <u>#2</u>	Addendum <u>#3</u>
Engineer's Estimate	\$ 7,000,934.00	✓	✓	✓	✓
Campanella & Sons, Inc	\$ 6,414,522.89	✓	✓	✓	✓
Berger Excavating Contractors, Inc.	\$ 6,468,375.35	✓	✓	✓	✓
V3 Construction Group, Ltd	\$6,693,000.00	✓	✓	✓	✓

VILLAGE OF LIBERTYVILLE Nicholas Dowden Park FLOOD CONTROL PROJECT - PHASE 1 Bid Tab

Christopher B. Burke Engineering, Ltd. 9575 West Higgins Road, Suite 600 Rosemont, Illinois 60018 (CBBEL Project No. 20-0140) DATE: June 17, 2022

				Engineer's Estimate		Campanella & Sons, Inc.		Berger Excavating		V3 Constructio	on Group, Ltd.
CODE	ITEMS	UNIT	QUANTITY	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST
20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	UNIT	275	\$35.00	\$9,625.00	\$12.10	\$3,327.50	\$11.00	\$3,025.00	\$12.00	\$3,300.00
20100210	TREE REMOVAL (OVER 15 UNITS DIAMETER)	UNIT	800	\$45.00	\$36,000.00	\$19.80	\$15,840.00	\$18.00	\$14,400.00	\$19.00	\$15,200.00
*20101200	TREE ROOT PRUNING	EACH	20	\$200.00	\$4,000.00	\$99.00	\$1,980.00	\$90.00	\$1,800.00	\$95.00	\$1,900.00
20200100	EARTH EXCAVATION (BASIN)	CU YD	71,500	\$40.00	\$2,860,000.00	\$30.57	\$2,185,755.00	\$32.70	\$2,338,050.00	\$32.65	\$2,334,475.00
20200100	EARTH EXCAVATION (PARKING STALLS)	CU YD	400	\$50.00	\$20,000.00	\$57.00	\$22,800.00	\$50.00	\$20,000.00	\$35.00	\$14,000.00
20200100	EARTH EXCAVATION (NORTHERN SWALE)	CU YD	350	\$50.00	\$17,500.00	\$57.00	\$19,950.00	\$53.00	\$18,550.00	\$38.00	\$13,300.00
20201200	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL (TOPSOIL DISPOSAL)	CU YD	1,000	\$50.00	\$50,000.00	\$38.35	\$38,350.00	\$46.00	\$46,000.00	\$30.00	\$30,000.00
*20800150	TRENCH BACKFILL, SPECIAL (STORM SEWER)	CU YD	400	\$45.00	\$18,000.00	\$73.04	\$29,216.00	\$60.00	\$24,000.00	\$93.00	\$37,200.00
21101505	TOPSOIL EXCAVATION AND PLACEMENT (12")	CU YD	16,500	\$12.50	\$206,250.00	\$15.91	\$262,515.00	\$10.10	\$166,650.00	\$14.00	\$231,000.00
21101625	TOPSOIL FURNISH AND PLACE, 6"	SQ YD	1,500	\$5.00	\$7,500.00	\$7.15	\$10,725.00	\$6.00	\$9,000.00	\$6.25	\$9,375.00
25000100	SEEDING, CLASS 1	SQ YD	33,000	\$3.00	\$99,000.00	\$0.79	\$26,070.00	\$1.95	\$64,350.00	\$1.25	\$41,250.00
25100630	EROSION CONTROL BLANKET	SQ YD	47,500	\$3.00	\$142,500.00	\$1.10	\$52,250.00	\$1.15	\$54,625.00	\$1.25	\$59,375.00
*25200200	SUPPLEMENTAL WATERING	UNIT	1,000	\$100.00	\$100,000.00	\$11.00	\$11,000.00	\$50.00	\$50,000.00	\$53.00	\$53,000.00
28000400	PERIMETER EROSION BARRIER	FOOT	4,250	\$5.00	\$21,250.00	\$2.75	\$11,687.50	\$3.40	\$14,450.00	\$2.50	\$10,625.00
*28000500	CULVERT INLET PROTECTION	EACH	8	\$250.00	\$2,000.00	\$330.00	\$2,640.00	\$265.00	\$2,120.00	\$420.00	\$3,360.00
*28000510	INLET FILTERS	EACH	15	\$150.00	\$2,250.00	\$220.00	\$3,300.00	\$265.00	\$3,975.00	\$320.00	\$4,800.00
28100107	STONE RIPRAP, RR-4	SQ YD	500	\$20.00	\$10,000.00	\$126.62	\$63,310.00	\$98.00	\$49,000.00	\$91.00	\$45,500.00
28200200	FILTER FABRIC	SQ YD	500	\$10.00	\$5,000.00	\$3.75	\$1,875.00	\$6.00	\$3,000.00	\$5.50	\$2,750.00
35102400	AGGREGATE BASE COURSE, TYPE B 12"	SQ YD	900	\$15.00	\$13,500.00	\$29.06	\$26,154.00	\$22.25	\$20,025.00	\$23.00	\$20,700.00
40300200	BITUMINOUS MATERIALS (PRIME COAT)	POUND	1,000	\$1.00	\$1,000.00	\$0.01	\$10.00	\$0.01	\$10.00	\$0.10	\$100.00
40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	TON	175	\$95.00	\$16,625.00	\$130.90	\$22,907.50	\$119.00	\$20,825.00	\$120.00	\$21,000.00
40604060	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	TON	125	\$100.00	\$12,500.00	\$137.50	\$17,187.50	\$125.00	\$15,625.00	\$130.00	\$16,250.00
*42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH (SPECIAL)	SQ FT	1,500	\$8.00	\$12,000.00	\$11.32	\$16,980.00	\$10.34	\$15,510.00	\$12.00	\$18,000.00
*42400800	DETECTABLE WARNINGS	SQ FT	50	\$50.00	\$2,500.00	\$82.50	\$4,125.00	\$39.00	\$1,950.00	\$41.00	\$2,050.00
*44000100	PAVEMENT REMOVAL	SQ YD	1,400	\$10.00	\$14,000.00	\$16.84	\$23,576.00	\$14.00	\$19,600.00	\$12.00	\$16,800.00
44000200	DRIVEWAY PAVEMENT REMOVAL	SQ YD	50	\$20.00	\$1,000.00	\$18.71	\$935.50	\$14.00	\$700.00	\$21.00	\$1,050.00
44000600	SIDEWALK REMOVAL	SQ FT	4,000	\$3.00	\$12,000.00	\$1.29	\$5,160.00	\$1.15	\$4,600.00	\$2.50	\$10,000.00
*44201723	CLASS D PATCHES, 6" (SPECIAL)	SQ YD	250	\$60.00	\$15,000.00	\$105.60	\$26,400.00	\$108.00	\$27,000.00	\$100.00	\$25,000.00
50105220	PIPE CULVERT REMOVAL	FOOT	20	\$20.00	\$400.00	\$56.13	\$1,122.60	\$32.00	\$640.00	\$14.00	\$280.00
52200800	SEGMENTAL CONCRETE BLOCK WALL	SQ FT	600	\$75.00	\$45,000.00	\$66.78	\$40,068.00	\$54.00	\$32,400.00	\$53.00	\$31,800.00
*54001002	BOX CULVERT END SECTIONS, CULVERT NO. 2 (8'x3' RCBC) W/ GRATE	EACH	1	\$10,000.00	\$10,000.00	\$21,014.87	\$21,014.87	\$26,000.00	\$26,000.00	\$39,900.00	\$39,900.00
54010604	PRECAST CONCRETE BOX CULVERTS, 8'x3'	FOOT	100	\$1,250.00	\$125,000.00	\$1,088.91	\$108,891.00	\$1,265.00	\$126,500.00	\$1,500.00	\$150,000.00
*54213663	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 18" W/ GRATE	EACH	1	\$4,000.00	\$4,000.00	\$2,636.57	\$2,636.57	\$2,000.00		\$3,100.00	\$3,100.00
*54213669	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 24" W/ GRATE	EACH	1	\$4,500.00	\$4,500.00	\$3,248.28	\$3,248.28	\$2,500.00	\$2,500.00	\$3,300.00	\$3,300.00
*54213675	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 30" W/ GRATE	EACH	4	\$5,500.00	\$22,000.00	\$4,177.36	\$16,709.44	\$7,500.00	\$30,000.00	\$3,300.00	\$13,200.00
*54214509	PRECAST REINFORCED CONCRETE FLARED END SECTIONS, EQUIVALENT ROUND-SIZE 24" W/ GRATE	EACH	1	\$6,500.00	\$6,500.00	\$5,705.01	\$5,705.01	\$3,950.00	\$3,950.00	\$3,700.00	\$3,700.00
550A0140	STORM SEWERS, CLASS A, TYPE 1, 30"	FOOT	20	\$200.00	\$4,000.00	\$268.28	\$5,365.60	\$125.00	\$2,500.00	\$300.00	\$6,000.00
550A0340	STORM SEWERS, CLASS A, TYPE 2, 12"	FOOT	50	\$125.00	\$6,250.00	\$106.84	\$5,342.00	\$65.00	\$3,250.00	\$220.00	\$11,000.00
550A0380	STORM SEWERS, CLASS A, TYPE 2, 18"	FOOT	20	\$130.00	\$2,600.00	\$182.08	\$3,641.60	\$78.00	\$1,560.00	\$260.00	\$5,200.00
550A0410	STORM SEWERS, CLASS A, TYPE 2, 24"	FOOT	80	\$125.00	\$10,000.00	\$163.44	\$13,075.20	\$150.00	\$12,000.00	\$230.00	\$18,400.00
550A0430	STORM SEWERS, CLASS A, TYPE 2, 30"	FOOT	525	\$150.00	\$78,750.00	\$146.04	\$76,671.00	\$126.00	\$66,150.00	\$280.00	\$147,000.00
550A0480	STORM SEWERS, CLASS A, TYPE 2, 48"	FOOT	15	\$300.00	\$4,500.00	\$522.14	\$7,832.10	\$266.00	\$3,990.00	\$420.00	\$6,300.00
540A4900	STORM SEWERS, CLASS A, TYPE 2 EQUIVALENT ROUND-SIZE 24"	FOOT	100	\$750.00	\$75,000.00	\$262.26	\$26,226.00	\$270.00	\$27,000.00	\$330.00	\$33,000.00
*550B0040	STORM SEWERS, CLASS B, TYPE 1 6"	FOOT	300	\$50.00	\$15,000.00	\$51.34	\$15,402.00	\$54.50	\$16,350.00	\$39.00	\$11,700.00
*550B0330	STORM SEWERS, CLASS B, TYPE 2 6"	FOOT	250	\$60.00	\$15,000.00	\$57.91	\$14,477.50	\$56.00	\$14,000.00	\$43.00	\$10,750.00
*550B0360	STORM SEWERS, CLASS B, TYPE 2 15"	FOOT	20	\$75.00	\$1,500.00	\$221.96	\$4,439.20	\$140.00	\$2,800.00	\$120.00	\$2,400.00
*55100100	STORM SEWER REMOVAL 4"	FOOT	25	\$10.00	\$250.00	\$23.00	\$575.00	\$18.00		\$11.00	

				Engineer's Estimate		Campanella & Sons, Inc.		c. Berger Excavating		V3 Constructio	on Group, Ltd.
*55100200	STORM SEWER REMOVAL 6"	FOOT	250	\$10.00	\$2,500.00	\$24.93	\$6,232.50	\$18.00	\$4,500.00	\$11.00	\$2,750.00
	STORM SEWER REMOVAL 8"	FOOT	50	\$10.00	\$500.00	\$21.31	\$1,065.50	\$18.00	\$900.00	\$11.00	\$550.00
	STORM SEWER REMOVAL 10"	FOOT	225	\$10.00	\$2,250.00	\$24.62	\$5,539.50	\$18.00	\$4,050.00	\$12.00	\$2,700.00
	STORM SEWER REMOVAL 24"	FOOT	925	\$20.00	\$18,500.00	\$27.20	\$25,160.00	\$25.00	\$23,125.00	\$15.00	\$13,875.00
	DUCTILE IRON WATER MAIN, 6"	FOOT	50	\$125.00	\$6,250.00	\$137.62	\$6,881.00	\$155.00	\$7,750.00	\$370.00	\$18,500.00
	DUCTILE IRON WATER MAIN, 0 DUCTILE IRON WATER MAIN, 12"	FOOT	150	\$125.00	\$22,500.00	\$137.02	\$32,397.00	\$155.00	\$33,750.00	\$520.00	\$18,500.00
	FIRE HYDRANTS TO BE REMOVED	EACH	3	\$150.00	\$2,250.00	\$2,158.20	\$6,474.60	\$1,275.00	\$3,825.00	\$4,800.00	\$14,400.00
	FIRE HYDRANT WITH AUXILIARY VALVE AND VALVE BOX	EACH	3	\$6,500.00	\$19,500.00	\$9,140.41	\$27,421.23	\$1,275.00	\$26,100.00	\$4,800.00	\$42,600.00
	PIPE UNDERDRAINS, TYPE 1, 6"	FOOT	6,250	\$45.00	\$281,250.00	\$37.27	\$232,937.50	\$43.00	\$268,750.00	\$30.00	\$187,500.00
	PIPE UNDERDRAINS, TYPE 1, 8"	FOOT	400	\$65.00	\$26,000.00	\$40.20	\$16,080.00	\$95.00	\$38,000.00	\$44.00	\$17,600.00
	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, OPEN LID	EACH	1	\$4,500.00	\$4,500.00	\$4,126.09	\$4,126.09	\$3,200.00	\$3,200.00	\$4,000.00	\$4,000.00
	CATCH BASINS, TYPE A, 4-DIAMETER, TYPE & GRATE	EACH	1	\$4,500.00	\$4,500.00	\$3,972.89	\$3,972.89	\$3,200.00	\$3,200.00		\$4,400.00
	CATCH BASINS, TYPE A, 4-DIAMETER, TYPE 8 GRATE	EACH	5	\$4,500.00	\$4,500.00	\$2,390.60	\$11,953.00	\$3,100.00	\$9,125.00	\$4,400.00	\$9,500.00
	MANHOLES. TYPE A. 5'-DIAMETER. TYPE 1 FRAME. CLOSED LID	EACH	5	\$6,000.00	\$30,000.00	\$2,390.00	\$29,996.85	\$1,823.00	\$9,123.00	\$1,900.00	\$36,500.00
	MANHOLES, TYPE A, 5-DIAMETER, TYPE 1 FRAME, CLOSED LID		3								
		EACH	-	\$7,500.00	\$22,500.00	\$9,635.62	\$28,906.86	\$9,400.00	\$28,200.00	\$11,200.00	\$33,600.00
	MANHOLES, TYPE A, 8'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	1	\$9,000.00	\$9,000.00	\$24,970.08	\$24,970.08	\$17,300.00	\$17,300.00	\$20,500.00	\$20,500.00
	INLETS, TYPE A, EJ 5030 FRAME AND LID	EACH	2	\$2,500.00	\$5,000.00	\$2,189.28	\$4,378.56	\$2,500.00	\$5,000.00	\$1,900.00	\$3,800.00
	FRAMES, TYPE 1 (EJ 5050 FRAME AND LID)	EACH	1	\$500.00	\$500.00	\$1,072.07	\$1,072.07	\$1,200.00	\$1,200.00	\$690.00	\$690.00
	COMBINATION CONCRETE CURB AND GUTTER REMOVAL AND REPLACEMENT	FOOT	1,300	\$30.00	\$39,000.00	\$61.35	\$79,755.00	\$35.75	\$46,475.00	\$46.00	\$59,800.00
	NON-SPECIAL WASTE DISPOSAL	CU YD	1,000	\$100.00	\$100,000.00	\$80.00	\$80,000.00	\$0.01	\$10.00	\$78.00	\$78,000.00
	SOIL DISPOSAL ANALYSIS	EACH	5	\$2,000.00	\$10,000.00	\$1,430.00	\$7,150.00	\$1.00		\$1,600.00	\$8,000.00
	REGULATED SUBSTANCES PRE-CONSTRUCTION PLAN	L. SUM	1	\$5,000.00	\$5,000.00	\$3,520.00	\$3,520.00	\$1.00			\$1,600.00
	REGULATED SUBSTANCES FINAL CONSTRUCTION REPORT	L. SUM	1	\$5,000.00	\$5,000.00	\$2,640.00	\$2,640.00	\$1.00			\$1,600.00
	REGULATED SUBSTANCES MONITORING	CAL DAY	10	\$500.00	\$5,000.00	\$968.00	\$9,680.00	\$1.00		\$1,600.00	\$16,000.00
	MOBILIZATION	L. SUM	1	\$250,000.00	\$250,000.00	\$230,000.00	\$230,000.00	\$335,000.00	\$335,000.00	\$205,000.00	\$205,000.00
*70100100 7	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	L. SUM	1	\$125,000.00	\$125,000.00	\$20,000.00	\$20,000.00	\$35,000.00	\$35,000.00	\$13,000.00	\$13,000.00
72000100 S	SIGN PANEL - TYPE 1	SQ FT	10	\$50.00	\$500.00	\$55.00	\$550.00	\$24.00	\$240.00	\$110.00	\$1,100.00
72900100	METAL POST - TYPE A	FOOT	30	\$50.00	\$1,500.00	\$27.50	\$825.00	\$30.00	\$900.00	\$53.00	\$1,590.00
78000100 1	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	SQ FT	50	\$10.00	\$500.00	\$38.50	\$1,925.00	\$15.00	\$750.00	\$160.00	\$8,000.00
78000200 1	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	FOOT	1,250	\$4.00	\$5,000.00	\$6.05	\$7,562.50	\$2.00	\$2,500.00	\$6.00	\$7,500.00
78000400 1	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	FOOT	150	\$6.00	\$900.00	\$9.35	\$1,402.50	\$3.00	\$450.00	\$11.00	\$1,650.00
78000600 1	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	FOOT	175	\$8.00	\$1,400.00	\$18.70	\$3,272.50	\$6.00	\$1,050.00	\$22.00	\$3,850.00
*80400100 E	ELECTRIC SERVICE INSTALLATION	EACH	1	\$1,500.00	\$1,500.00	\$4,082.24	\$4,082.24	\$2,500.00	\$2,500.00	\$14,000.00	\$14,000.00
*80400200 E	ELECTRIC UTILITY SERVICE CONNECTION	EACH	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$11,000.00	\$11,000.00
81028730 l	UNDERGROUND CONDUIT, COILABLE NONMETALLIC CONDUIT, 1 1/4" DIA.	FOOT	805	\$20.00	\$16,100.00	\$12.50	\$10,062.50	\$20.14	\$16,212.70	\$12.00	\$9,660.00
81028750 l	UNDERGROUND CONDUIT, COILABLE NONMETALLIC CONDUIT, 2" DIA.	FOOT	585	\$30.00	\$17,550.00	\$21.65	\$12,665.25	\$25.19	\$14,736.15	\$16.00	\$9,360.00
81702110 E	ELECTRIC CABLE IN CONDUIT, 600V (XLP-TYPE USE) 1/C NO. 10	FOOT	1,395	\$2.50	\$3,487.50	\$1.67	\$2,329.65	\$2.00	\$2,790.00	\$3.00	\$4,185.00
81702130 E	ELECTRIC CABLE IN CONDUIT, 600V (XLP-TYPE USE) 1/C NO. 6	FOOT	1,890	\$5.00	\$9,450.00	\$2.68	\$5,065.20	\$2.60	\$4,914.00	\$4.00	\$7,560.00
81702170 E	ELECTRIC CABLE IN CONDUIT, 600V (XLP-TYPE USE) 1/C NO. 2/0	FOOT	1,785	\$7.50	\$13,387.50	\$7.48	\$13,351.80	\$7.50	\$13,387.50	\$9.00	\$16,065.00
83600200 L	LIGHT POLE FOUNDATION, 24" DIAMETER	FOOT	6	\$250.00	\$1,500.00	\$535.11	\$3,210.66	\$1,800.00	\$10,800.00	\$650.00	\$3,900.00
84200804 F	REMOVAL OF POLE FOUNDATION	EACH	1	\$500.00	\$500.00	\$945.73	\$945.73	\$1,325.00	\$1,325.00	\$350.00	\$350.00
84400105 F	RELOCATE EXISTING LIGHTING UNIT	EACH	3	\$5,000.00	\$15,000.00	\$3,665.98	\$10,997.94	\$3,700.00	\$11,100.00	\$4,700.00	\$14,100.00
*X0320067 E	BENCH REMOVAL	EACH	6	\$50.00	\$300.00	\$324.43	\$1,946.58	\$450.00	\$2,700.00	\$280.00	\$1,680.00
*X0325815 F	REMOVE EXISTING CABLE	FOOT	200	\$5.00	\$1,000.00	\$2.46	\$492.00	\$10.00	\$2,000.00	\$2.75	\$550.00
*X0322881 1	TREE TRIMMING	EACH	10	\$250.00	\$2,500.00	\$99.00	\$990.00	\$90.00	\$900.00	\$95.00	\$950.00
*X0426200 [DEWATERING	L. SUM	1	\$100,000.00	\$100,000.00	\$23,195.82	\$23,195.82	\$22,000.00	\$22,000.00	\$7,900.00	\$7,900.00
*X1200043 F	PRECAST CONCRETE JUNCTION CHAMBER, 10'x12'	EACH	1	\$75,000.00	\$75,000.00	\$74,645.01	\$74,645.01	\$78,500.00	\$78,500.00	\$84,500.00	\$84,500.00
*X1400088 F	POWER PEDESTAL	EACH	2	\$5,000.00	\$10,000.00	\$3,568.90	\$7,137.80	\$6,000.00	\$12,000.00	\$2,700.00	\$5,400.00
*X1400395 L	LIGHTING PANELBOARD	EACH	1	\$5,000.00	\$5,000.00	\$6,919.06	\$6,919.06	\$1,000.00	\$1,000.00	\$530.00	\$530.00
*X5610004 [DUCTILE IRON WATER MAIN FITTINGS	POUND	1,500	\$5.00	\$7,500.00	\$13.25	\$19,875.00	\$9.00	\$13,500.00	\$7.75	\$11,625.00
*X5610704	WATER MAIN REMOVAL, 4"	FOOT	50	\$20.00	\$1,000.00	\$62.04	\$3,102.00	\$45.00	\$2,250.00	\$180.00	\$9,000.00
*X5610712	WATER MAIN REMOVAL, 12"	FOOT	125	\$20.00	\$2,500.00	\$51.19	\$6,398.75	\$45.00	\$5,625.00	\$220.00	\$27,500.00
*X8100105 (CONDUIT SPLICE	EACH	1	\$500.00	\$500.00	\$593.70	\$593.70	\$3,500.00	\$3,500.00	\$320.00	\$320.00
*Z0013798 0	CONSTRUCTION LAYOUT	L. SUM	1	\$50,000.00	\$50,000.00	\$60,000.00	\$60,000.00	\$28,200.00	\$28,200.00	\$45,200.00	\$45,200.00
	DRAINAGE & UTILITY STRUCTURES TO BE ADJUSTED	EACH	6	\$500.00	\$3,000.00	\$382.84	\$2,297.04	\$700.00	\$4,200.00		\$6,600.00
	DRAINAGE STRUCTURE TO BE REMOVED	EACH	14	\$750.00	\$10,500.00	\$736.33	\$10,308.62	\$540.00	\$7,560.00		\$3,640.00
*Z0018700 [

				Engineer's Estimate		Campanella & Sons, Inc.		. Berger Excavating		V3 Constructio	n Group, Ltd.
*Z0013797	STABILIZED CONSTRUCTION ENTRANCE	SQ YD	350	\$25.00	\$8,750.00	\$41.04	\$14,364.00	\$50.50	\$17,675.00	\$300.00	\$105,000.00
*Z0004510	HOT-MIX ASPHALT DRIVEWAY PAVEMENT, 3"	SQ YD	50	\$50.00	\$2,500.00	\$119.34	\$5,967.00	\$63.00	\$3,150.00	\$66.00	\$3,300.00
*Z0033024	MAINTAIN EXISTING LIGHTING SYSTEM	L. SUM	1	\$2,500.00	\$2,500.00	\$4,910.30	\$4,910.30	\$3,000.00	\$3,000.00	\$11,000.00	\$11,000.00
*Z0055905	TEMPORARY CONSTRUCTION FENCE, 6'	FOOT	3,250	\$20.00	\$65,000.00	\$11.00	\$35,750.00	\$12.00	\$39,000.00	\$9.00	\$29,250.00
*Z0056668	STORM SEWERS, TYPE 1, WATER MAIN QUALITY PIPE, 12"	FOOT	225	\$150.00	\$33,750.00	\$135.77	\$30,548.25	\$125.00	\$28,125.00	\$170.00	\$38,250.00
*Z0056668	STORM SEWERS, TYPE 2, WATER MAIN QUALITY PIPE, 12"	FOOT	25	\$200.00	\$5,000.00	\$213.27	\$5,331.75	\$151.00	\$3,775.00	\$320.00	\$8,000.00
*Z0056672	STORM SEWERS, TYPE 2, WATER MAIN QUALITY PIPE, 24"	FOOT	125	\$175.00	\$21,875.00	\$348.72	\$43,590.00	\$300.00	\$37,500.00	\$340.00	\$42,500.00
*NA	CLEANOUT, 6"	EACH	42	\$900.00	\$37,800.00	\$1,124.28	\$47,219.76	\$550.00	\$23,100.00	\$910.00	\$38,220.00
*NA	CONTINGENCY - EARTHWORK	DOLLAR	25,000	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
*NA	CONTINGENCY - LANDSCAPING	DOLLAR	25,000	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
*NA	CONTINGENCY - PARK AMENITIES	DOLLAR	25,000	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
*NA	CONTINGENCY - PAVING	DOLLAR	25,000	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
*NA	CONTINGENCY - UTILITIES	DOLLAR	75,000	\$1.00	\$75,000.00	\$1.00	\$75,000.00	\$1.00	\$75,000.00	\$1.00	\$75,000.00
*NA	FIELD OF DREAMS SEED MIX	SQ YD	13,000	\$3.00	\$39,000.00	\$0.83	\$10,790.00	\$2.45	\$31,850.00	\$6.00	\$78,000.00
*NA	ICE RINK COPPER DRAIN PIPE AND VALVE	L. SUM	1	\$20,000.00	\$20,000.00	\$21,682.55	\$21,682.55	\$29,500.00	\$29,500.00	\$15,800.00	\$15,800.00
*NA	INLINE CHECK VALVE, 6"	EACH	9	\$5,000.00	\$45,000.00	\$1,520.38	\$13,683.42	\$1,900.00	\$17,100.00	\$2,600.00	\$23,400.00
*NA	INLINE CHECK VALVE, 18"	EACH	1	\$10,000.00	\$10,000.00	\$6,486.45	\$6,486.45	\$7,500.00	\$7,500.00	\$10,100.00	\$10,100.00
*NA	IRRIGATION SYSTEM, COMPLETE	L. SUM	1	\$75,000.00	\$75,000.00	\$58,850.00	\$58,850.00	\$68,050.00	\$68,050.00	\$50,300.00	\$50,300.00
*NA	LOCATING UNDERGROUND UTILITY	EACH	5	\$2,000.00	\$10,000.00	\$890.66	\$4,453.30	\$700.00	\$3,500.00	\$1,500.00	\$7,500.00
*NA	REINFORCED CONCRETE BOX CULVERT ELBOW 8'x3', 58-DEGREE BEND	EACH	1	\$10,000.00	\$10,000.00	\$11,388.91	\$11,388.91	\$15,000.00	\$15,000.00	\$18,300.00	\$18,300.00
*NA	SAND CHANNEL DRAINAGE	SQ FT	4,000	\$5.00	\$20,000.00	\$19.61	\$78,440.00	\$0.01	\$40.00	\$23.00	\$92,000.00
*NA	SKATING RINK LINER	SQ FT	19,500	\$1.50	\$29,250.00	\$2.33	\$45,435.00	\$2.60	\$50,700.00	\$2.25	\$43,875.00
*NA	STORAGE BUILDING ELECTRICAL WORK	L. SUM	1	\$10,000.00	\$10,000.00	\$21,147.75	\$21,147.75	\$16,500.00	\$16,500.00	\$23,900.00	\$23,900.00
*NA	TEMPORARY CONSTRUCTION FENCE FOR TREE PROTECTION	FOOT	1,500	\$5.00	\$7,500.00	\$8.80	\$13,200.00	\$5.00	\$7,500.00	\$7.25	\$10,875.00
*NA	WATER MAIN CONNECTION TO EXISTING WATER MAIN (NON-PRESSURE) - DISCONNECT AND CAP	EACH	2	\$6,000.00	\$12,000.00	\$3,642.48	\$7,284.96	\$8,500.00	\$17,000.00	\$14,700.00	\$29,400.00
*NA	BACKSTOP FENCE, 24FT HT	FOOT	240	\$540.00	\$129,600.00	\$588.50	\$141,240.00	\$487.50	\$117,000.00	\$420.00	\$100,800.00
*NA	CHAIN LINK FENCE, COATED, 10FT HT	FOOT	320	\$125.00	\$40,000.00	\$143.00	\$45,760.00	\$167.00	\$53,440.00	\$160.00	\$51,200.00
*NA	CHAIN LINK FENCE, COATED, 8FT HT	FOOT	240	\$100.00	\$24,000.00	\$132.00	\$31,680.00	\$183.50	\$44,040.00	\$150.00	\$36,000.00
*NA	CHAIN LINK FENCE, COATED, 6FT HT	FOOT	256	\$75.00	\$19,200.00	\$96.25	\$24,640.00	\$99.00	\$25,344.00	\$120.00	\$30,720.00
*NA	DUGOUT STRUCTURE (PURCHASE)	EACH	8	\$12,000.00	\$96,000.00	\$14,819.08	\$118,552.64	\$13,700.00	\$109,600.00	\$13,400.00	\$107,200.00
*NA	DUGOUT STRUCTURE (INSTALLATION)	EACH	8	\$6,000.00	\$48,000.00	\$8,703.75	\$69,630.00	\$8,900.00	\$71,200.00	\$4,600.00	\$36,800.00
*NA	DUGOUT FOOTINGS	CU YD	30	\$900.00	\$27,000.00	\$681.78	\$20,453.40	\$1,117.21	\$33,516.30	\$2,100.00	\$63,000.00
*NA	STORAGE STRUCTURE (PURCHASE)	L. SUM	1	\$112,000.00	\$112,000.00	\$207,329.07	\$207,329.07	\$180,000.00	\$180,000.00	\$177,600.00	\$177,600.00
*NA	STORAGE STRUCTURE (INSTALLATION)	L. SUM	1	\$84,000.00	\$84,000.00	\$181,390.00	\$181,390.00	\$142,650.00	\$142,650.00	\$53,500.00	\$53,500.00
*NA	BUILDING FOUNDATION	CU YD	16	\$900.00	\$14,400.00	\$1,434.25	\$22,948.00	\$2,025.00	\$32,400.00	\$2,100.00	\$33,600.00
*NA	BUILDING SLAB W/ WWF	SQ FT	832	\$12.00	\$9,984.00	\$11.00	\$9,152.00	\$20.15	\$16,764.80	\$31.00	\$25,792.00
*NA	PLAYER BENCHES	EACH	8	\$1,000.00	\$8,000.00	\$2,485.63	\$19,885.04	\$4,150.00	\$33,200.00	\$1,300.00	\$10,400.00
*NA	CLAY INFIELD, 6IN DEPTH	CU YD	685	\$40.00	\$27,400.00	\$122.19	\$83,700.15	\$215.00	\$147,275.00	\$99.00	\$67,815.00
*NA	BASES, HOME PLATE, PITCHING PLATE (SET)	EACH	4	\$1,000.00	\$4,000.00	\$6,342.31	\$25,369.24	\$5,300.00	\$21,200.00	\$1,400.00	\$5,600.00
*NA	CLAY BRICKS	SQ FT	230	\$18.00	\$4,140.00	\$27.50	\$6,325.00	\$86.00	\$19,780.00	\$59.00	\$13,570.00
*NA	SOD FOR UNDERDRAIN	SQ FT	1,110	\$11.00	\$12,210.00	\$3.03	\$3,363.30	\$2.00	\$2,220.00	\$2.50	\$2,775.00
*NA	LIMESTONE PAVING	SQ FT	2,025	\$4.00	\$8,100.00	\$5.57	\$11,279.25	\$4.25	\$8,606.25	\$19.00	\$38,475.00
*NA	STEEL EDGING	FOOT	160	\$8.00	\$1,280.00	\$22.00	\$3,520.00	\$36.00	\$5,760.00	\$120.00	\$19,200.00
*NA	DOUBLE BATTING CAGE AND NETTING (PURCHASE)	EACH	1	\$12,000.00	\$12,000.00	\$15,746.95	\$15,746.95	\$16,500.00	\$16,500.00	\$13,500.00	\$13,500.00
*NA	DOUBLE BATTING CAGE AND NETTING (INSTALLATION)	EACH	1	\$6,000.00	\$6,000.00	\$18,404.10	\$18,404.10	\$22,100.00	\$22,100.00	\$11,360.00	\$11,360.00
*NA	CONCRETE PAVING	SQ FT	12,365	\$10.00	\$123,650.00	\$12.16	\$150,358.40	\$10.61	\$131,192.65	\$13.00	\$160,745.00
*NA	ASPHALT PAVING	SQ YD	470	\$32.00	\$15,040.00	\$64.23	\$30,188.10	\$65.50	\$30,785.00	\$47.00	\$22,090.00
*NA	PLANTING SOIL, 12IN DEPTH	CU YD	44	\$75.00	\$3,300.00	\$84.70	\$3,726.80	\$140.00	\$6,160.00	\$95.00	\$4,180.00
*NA	MULCH, 3IN DEPTH	CU YD	11	\$45.00	\$495.00	\$99.00	\$1,089.00	\$75.00	\$825.00	\$85.00	\$935.00
*NA	TREES	EACH	4	\$600.00	\$2,400.00	\$770.00	\$3,080.00	\$600.00	\$2,400.00	\$650.00	\$2,600.00
*NA	SMALL SHRUBS	EACH	8	\$60.00	\$480.00	\$330.00	\$2,640.00	\$125.00	\$1,000.00	\$95.00	\$760.00
*NA	LARGE SHRUBS	EACH	15	\$75.00	\$1,125.00	\$550.00	\$8,250.00	\$540.00	\$8,100.00	\$370.00	\$5,550.00
*NA	PERENNIALS	EACH	169	\$20.00	\$3,380.00	\$27.50	\$4,647.50	\$16.00		\$22.00	\$3,718.00
*INDICATES SPE	CIAL PROVISION			TOTAL =	\$7,000,934.00	TOTAL =	\$6,414,522.89	TOTAL =	\$6,468,375.35	TOTAL =	\$6,693,000.00